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This paper consists of 8 questions. Answer any five questions. All questions carry equal marks.
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1.  (a) From the market demand schedule given below in the table:

Quantity Demand Price

A 100 60

B 200 50

C 300 40
Calculate price elasticity of demand using mid-point formula from A to B and from B
to C. . (8)
(b) Explain why is price elasticity of demand different at different points on a straight
line demand curve? @)
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2. (a) Consider a market in which demand and supply function are given by the following
schedule: :
Qq =500-5P
Qs = 10P — 40

(i) Calculate market equilibrium price and quantity.

(i) Calculate the effect of a price ceiling of Rs. 30 on quantity demanded and quantity
supplied. Is there an excess supply or excess demand? _ (3+5)

(b) Distinguish between movement along the demand curve and shift in the demand

curve. (7
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3. (a) Explain consumer equilibrium with the help of indifference curve and budget line.
Show the effect of rise in price on consumer equilibrium in a case of giffen good.

®)
(b) What is Price Consumption Curve (PCC)? Show the derivation of demand curve
from the Price Consumption Curve. . : ¥
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~4.  (A) You are given the follqwinginformation:

—T

Output 0 I "2 T3 4 5 6
Total Cost 12 117 (21 |26 132 [40 {50

(i) Calculate Total Fixed Cost (TFC), Total Variable Cost (TVC), Average Fixed Cost
(AFC), Average Variable Cost (AVC), Average Cost (AC) and Marginal Cost (MC)
from the above table. '

(iD)If the price of output is Rs. 8, how many units of output will this firm produce?

(i) What is the total revenue? Will the firm operate or shut down in the short run?
Briefly explain your arswers. (7,3, 5)
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5. (a) What are the usual shape of short run average cost (SAC) and Short run marginal
cost curve (SMC)? Can the SMC curve rise when SAC is falling? (5)

(b) Derive long run average cost curve from the short run average cost curves. Explain
why long run average cost is flatter than short run cost curves? (10)
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6. (a) Explain producers equilibrium with the help of iso-quants and iso-cost curve. ¥

(b) Distinguish between returns to a factor and returns to scale. (7)
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7. (a) Explain why resources are allocated efficiently among firms and output is
, distributed efficiently among households in perfectly competitive markets (10)

(b) What are consumer surplus and producer surplus? With the help of diagram, explain
how consumer surplus is calculated. )
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Write short notes on any two of the following:
(a) Production Possibility Frontier

(b) Law of diminishing marginal utility

(c) Paradox of value
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